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Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will resuit no mark.
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Q.1 Questions /=iy A B c D
e bt KL
N <k rsh KUl sl - - P 360°
The sum of the angles of a triangle is:
e b6 LA s Hs§ssf L ar’h zrih 3
3 T Z - r’h ~r’
Volume of a right circular cylinder is: 3 2
-1
—e by (AB) tuss _ s
5 . <~ }"//( ) t/'u A_| B_l BIA] AlBl
In matrices (AB)™ =?
p -;Jn:MJu,ijutw,g 7 5 3 4
" [The number of medians in a triangle is:
. Bt il e F i B ot AT LA S
" [The angle bisectors of a triangle are: Concurrent Collinear Perpendicular Non-concurrent
e b S e Sn s 2 LB LSS e o o Y
6. |a pointin a cartesi?n plane determines a Set P Mk Giredinato
unique ordered pair of:
f ) |
¥
L Questions /= 1> A B c D
e bWl 2 360° F 4 = 180°u8 Sty i s A ol
7. |An angle containing more than 180° and less Reflex Obtuse Straight Acute
than 360° is called: angle angle angle angle
" - e el L2 G _,me; e Jv .,Ju“duq Ve 5 AE
A matrix consisting of one row is called a: Row matrix |Column matrix|ldentity matrix Scalar matrix
e Q8 3L e A SBAUE £ e 1 a+b+c
9. | S ks oo St ML —bh bh 2078 | [sGs—a)s—b)s—0)
Area of a triangle when all the three sides are given is: 2 2
10. _éj—-’/ﬂfb’ x'=5x+6=0 o
Solution of x* ~5x+6=0is: 3) 2} (2,3} {=2,-3)
11. ‘ . -‘L(:'n..n)f.;al:l/(f./u: 0 1 ) 3
A quadratic equation has a degree:
1%, e |x-3=5| {8, -2} {-8, -2} {8, 2} {=8,2}
Solution of [x—3|=5is:
75, _ug¢/-’z:4/r}m"uww . 1 5 g
The number of methods to find L.C.M are:
14 -4..(7}’:',?/){[}//.?{&/)5{ 0
"|A linear polynomial is of degree: g . 3
T
15, | -4,.7/)(\/7 =at KJI I 0 1 2 1,2
Ja =ais a surd of order.
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Note:- Scetion B is compulsory. Attempt any THREE (3) questions from Section C.
(SECTION-B /».») )
2. Write short answers to any SIX parts. (6x2=12) E pehr A Lange s 2
_Z{::dl‘/ulg’éqi(j,’i{:lﬁ A

i. Define surd and give an example.

i 4 P(r) =420 then find P{r), forr=8and 7 = %?l _é(}” P L n= %% ar=87 0 P(ry=4xr /i i
o IF = VS +2 then find x +_1\". _";‘,,fr)”.;,éd x+-;—» in x= \/5 v 2 /1 i
iv. Factonze a’+a~3a° =3 ata =34’ =3 : (éo/’ v
v. Factorize v'=x =2 ¥-x=2 d:!df v
vi. Define remainder theorem éﬂ_{ﬂéju/ Vi
vil. Find H.C.F of 14a’c, 21ab® by factorization. -éf’wd/'?é‘/éfl' o ¥ 14a’be, 21ab’ yij
vili, Find L.C.M of 12p°% Bplar’ by factorization, E PSR Ao ¥ 1200, 8p'ar” vii
ix. Find the square root of 49x+ 112xy+64y”, -éﬂw sir ¥ 495" +112xy+64y” ix
3. Write short answers to any SIX parts. (6x2=12) . —éh? ez Lz "-"’G’( -3
i. Whatis solution or root of an equation? Tl e dail JLanr i
i Solve: 9y=3=3(2x - 8) 9x-3=3(2¢ - 8) £ i
. Solve: [2x—3]=5 |2¢ -3|=5 ;£ i
iv. Solve by using factorization method: (2v+3) (x =2)=0 (2v+3) (-2)=0 2 B Rk v
v. Solve by using factorization method x*=8-7x X=8-7x :éd’d)f;_’,,; RY
vi. Whatis transpose of a malrix? . S‘c‘_:l/‘_l{:,m)!}L.,Jto' i
RS EY! [ e
viil.  Find the matrix product: [ﬁ% ,3;'['}?:' [__:Ii ~g}[“!’l] :zif()’ﬂ,,/g)‘b[_uz’s Vi
ix. Write down the given matrices in the form of linear equation: [35_ -»%]Br] = [-—ﬂ 4‘.” u‘l‘f’ J._-A;(/d ,,é'fuﬁsata_,, Jix
4. Write short answers to any SiX parts. (6x2=12) -é:é{ Az ,"” L:I'Zli,c-éf .4
i. Write dpwn the valsJe of angle marked ‘b’ and write down b/ e g, g’—fe»léﬁo Aﬁ‘f(jbf;ué?r) i
whether the angle is supplementary or complementary? " P"A'/L,éd % ]
ii. Look atthe given figure and answer the following questions: 4~—~—/;/v§f'=':~> 410 :,U)Z[..:,mrdsé,»/ ti’x)c J Gy -l
(a) The pair of comesponding angles (b) The pair of vertical angles. “;‘77"."—"' LIS () e n i J (D
iii. Define parallelogram. ; ,éé..g,-”d(,»’ﬂidﬁi’ i
iv. Define tangent of a circle. -éu;}édt/[.c,ib v
v. Find the hypotenuse of the right isosceles triangle each of whose legs is“ 7", _yr /" I 5¢5” ﬁéu’-z’f{'}“ Ik DA ufz‘/‘fdﬂ;"’tﬂ v
vi. Define area. -“;’«.{4,56,51 vi
vii. Whatis the difference between cube and cuboid? vcl,(j)yu:u,»f,,'.,-f i
viii. Write down the distance formula. -af’ﬂn(i 26 il
ix. Find the distance between (a,-b), (b, -@) pair of points. ,g,frr’yuug»,,z:(a, -b), (b, )35 .ix
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(SECTION-C /r.») ML ‘/
Attempt apy THREE questions. Each question carries Eight (4+4) marks. A /(4+4)ﬂ£.«dk"/—<f s UW Leiired <07
(a) Rationalize: 8 ey i EETHES  (a)5
s NI e '
(b) Faclorize: g4x’-xa" 64x7— xa® é(j ,2 (b)
6(2) FindL.C.Mbyfactorization: x°#1, x*+x%41, Caxs 1 x°4+1, x*ex®+1, Pt ot Srowsf s ()6
X+3 x+2 x 2 + 5
(b) Solve: £ 2 Ba <l+x+5 ﬁi—x+ Y ks é&.}' (b)
4 5 6 4 5
7.(a) Find two consecutive positiv?e odd numbers such that sum of their sequence is 74. 474 AU /.Lu?é(}” fr ,.;U(s_-/:")"/ diyn (a7
(o) A ——{% g}B = ["% ”8],then prove that {AB)=B'A' (AB)'=BA* zé.:,_[:],r A :[,2, g],B =['}2 '8] A (b)
8.a) Solve the following equations by using matrix inversion method: céd’ e apl My & fuinbestn  (a)-8
x - y=10, 3x - y=10,
2x + 3y=3 bl e
(b) Construct a triangle where each of its side is 5 cm and draw its altitudes. -&:'3‘{ L AL 115 emt a8 é,l‘:ej’ NN C))
g.(a) Find the volume of right circular cylinder with circumferences of VR 7 4 g s,
SRR o o A0l s S LS E e s ()9
1), B(-2,-3) and C(2,2) ; s :
(b)  Show that the points A(S, 1), B(-2, -3) an AL FUISE L2, 20 AG) B(-2-3BSE ek ()

are the vertices of an isosceles trnangle
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